Графы и их матрицы

Для данного графа G(X,U,f) найти:

1) матрицу смежности;

2) матрицу инцидентности;

3) матрицу достижимости;
4) число связности  и число сильной связности.

1. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(1,2); f(II)=(2,3); f(III)=(3,1); f(IV)=(1,3); f(V)=(4,6) 

2. X={1,2,3,4,5}; U={I,II,III,IV,V,VI}; f(I)=(2,3); f(II)=(3,1); f(III)=(1,2); f(IV)=(4,5); f(V)=(5,4); f(VI)=(1,3) 

3. X={1,2,3,4,5}; U={I,II,III,IV,V,VI,VII}; f(I)=(3,4); f(II)=(4,5); f(III)=(5,3); f(IV)=(5,5); f(V)=(1,2); f(VI)=(4,3); f(VII)=(2,1)
4. X={1,2,3,4,5,6,7}; U={I,II,III,IV,V}; f(I)=(1,2); f(II)=(2,3); f(III)=(3,4); f(IV)=(4,1); f(V)=(7,6)
5. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(3,4); f(II)=(4,6); f(III)=(6,3); f(IV)=(2,1); f(V)=(5,6)
6. X={1,2,3,4,5}; U={I,II,III,IV,V}; f(I)=(3,4); f(II)=(4,5); f(III)=(5,3); f(IV)=(2,1); f(V)=(3,5)
7. X={1,2,3,4,5,6,7}; U={I,II,III,IV,V}; f(I)=(2,3); f(II)=(3,6); f(III)=(6,2); f(IV)=(1,7); f(V)=(7,5)
8. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(1,2); f(II)=(3,2); f(III)=(4,5); f(IV)=(6,6); f(V)=(5,4)
9. X={1,2,3,4,5,6,7}; U={I,II,III,IV,V,VI}; f(I)=(1,3); f(II)=(1,4); f(III)=(1,5); f(IV)=(6,7); f(V)=(4,1); f(VI)=(2,1)
10. X={1,2,3,4,5}; U={I,II,III,IV,V}; f(I)=(2,3); f(II)=(3,4); f(III)=(4,2); f(IV)=(2,4); f(V)=(5,5)
11. X={1,2,3,4,5,6}; U={I,II,III,IV}; f(I)=(1,2); f(II)=(3,4); f(III)=(4,1); f(IV)=(5,6)
12. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(3,5); f(II)=(5,6); f(III)=(6,3); f(IV)=(2,1); f(V)=(5,4) 

13. X={1,2,3,4,5}; U={I,II,III,IV}; f(I)=(2,4); f(II)=(4,5); f(III)=(5,2); f(IV)=(1,2)
14. X={1,2,3,4}; U={I,II,III,IV,V}; f(I)=(2,3); f(II)=(3,2); f(III)=(3,4); f(IV)=(4,3); f(V)=(3,3)
15. X={1,2,3,4,5}; U={I,II,III,IV,V}; f(I)=(2,3); f(II)=(3,5); f(III)=(5,2); f(IV)=(1,5); f(V)=(5,4)
16. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(5,6); f(II)=(6,1); f(III)=(5,4); f(IV)=(5,3); f(V)=(1,2)
17. X={1,2,3,4,5}; U={I,II,III,IV,V}; f(I)=(4,3); f(II)=(3,1); f(III)=(3,2); f(IV)=(2,3); f(V)=(1,5)
18. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(2,6); f(II)=(6,3); f(III)=(3,2); f(IV)=(1,4); f(V)=(5,4)
19. X={1,2,3,4,5}; U={I,II,III,IV,V}; f(I)=(5,1); f(II)=(1,4); f(III)=(4,5); f(IV)=(2,3); f(V)=(4,4)
20. X={1,2,3,4,5}; U={I,II,III,IV,V}; f(I)=(4,1); f(II)=(1,4); f(III)=(2,3); f(IV)=(3,4); f(V)=(2,4)
21. X={1,2,3,4,5}; U={I,II,III,IV}; f(I)=(1,2); f(II)=(2,3); f(III)=(3,1); f(IV)=(4,5)
22. X={1,2,3,4,5,6}; U={I,II,III,IV}; f(I)=(4,5); f(II)=(5,6); f(III)=(6,1); f(IV)=(3,2)
23. X={1,2,3,4,5}; U={I,II,III,IV,V}; f(I)=(4,5); f(II)=(5,1); f(III)=(1,4); f(IV)=(2,3); f(V)=(5,1)
24. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(5,4); f(II)=(4,1); f(III)=(1,5); f(IV)=(5,4); f(V)=(3,2)
25. X={1,2,3,4,5,6}; U={I,II,III,IV,V}; f(I)=(6,3); f(II)=(3,6); f(III)=(6,5); f(IV)=(6,1); f(V)=(4,3)
